GS - 1 — Indian Society PYQs (2013 -2023)

fawg - 1 (URdr TS B g1 faRivang, yra ot fafauran

Theme - 1 (Salient features of Indian Society, Diversity of India)

Question Marks | Words | Year
Do you think marriage as a sacrament is loosing its 10 150 2023
value in Modern India? Marks | words

T 39 TId 8 b, 3y YRd o faare Ue TR & =4

o 3T YT Wl ST T6T 82

Child cuddling is now being replaced by mobile 10 150 2023
phones. Discuss its impact on the socialization of Marks | words

children.

= Bl GARA P oG 3fd Al B A A ol 81 I &

FHTSIHRU R $b YHTA ST i Hifor|

Why is caste identity in India both fluid and static? 15 250 2023
HRd § oIt if@yar nfaefie 8ik fRR 1 & oai 87 Marks | words

Given the diversities among tribal communities in 10 150 2022
India in which specific context should they be Marks | words

considered as a single category?

YRA & Sl G o1 fafaerdia o dad gu ford fafdry
T & Sfid I fodt Uahd JUTt H AT ST 91fey ?

Examine the uniqueness of tribal knowledge system 10 150 2021
when compared with mainstream knowledge and Marks | words
cultural systems.

THAYRT & I 3R FRpTAD JuNierdt &1 g § Sfgard I

YUt b1 fATRITAT bt wirg Hiford |
How does Indian society maintain continuity in 15 250 2021
traditional social values? Enumerate the changes Marks | words

taking place in it.

HRATT THTST TR AHTois Yot § fARaRdT 8 §-1Y adr

& ? $99 81 arel gRadHI 1 faaRur iy |
Has caste lost its relevance in understanding the 10 150 2020
multicultural Indian Society? Elaborate your answer Marks | words

with illustrations.

g-IRP D YR THTS &I THH H &1 S B Wi

AT B 71 § ? IaeR0l Iied fasd IR S|

Do we have cultural pockets of small India all over the 15 250 2019
nation? Elaborate with examples. Marks | words

T §UR Y H A g YR & ARPfad &7 § ? SETeR0 &

1Y FIAEIR WY BT

“Caste system is assuming new identities and 10 150 2018
associational forms. Hence, caste system cannot be Marks | words

eradicated in India.” Comment.




"l RT3 18 TS 37R YeaR) =0l ! YR bR e B
3fd:, YRA H ST STaRIT &1 I el [T o Teha & 1"
feuwft HIRA |

In the context of the diversity of India, can it be said
that the regions form cultural units rather than the
States? Give reasons with examples for your view
point.

YRA &1 [afderar & deu #, a1 98 a1 o Govd  fob 41 Bt
3108/ YR Hi&plcich DIZUT DI TY UM B & ? 30
=PIV & oL IeTerull Afgd HRU FdZT|

10
Marks

150
words

2017

What are the two major legal initiatives by the State
since Independence addressing discrimination against
Scheduled Tribes(STs)?

T 3 STE SR STt (T8 ) % ui deuma Bl R
HA & Y, I gRT &1 715 & A faldes ugdd 1 ¢ 2

10
Marks

150
words

2017

The spirit of tolerance and love is not only an
interesting feature of Indian society from very early
times, but it is also playing an important part at the
present. Elaborate.

eI Td U B UG- 4 had i T 99 9§ 81 YR
TS BT U e AU a1 @, Mg aaaq & ot 98 U
eyl YT Ay 36 3| SR Wy Fifv|

15
Marks

250
words

2017

Why are the tribals in India referred to as ‘the
Scheduled Tribes'? Indicate the major provisions
enshrined in the Constitution of India for their
upliftment.

FT HRUT g fb HRA H SIonfadl & ' Sgferd SHeTiaar &el
ST 87 YRd & Ty § ufasiiid 3% I/ & fog o
UIaUTl ®1 gferd Hifg|

12.5
Marks

200
words

2016

Describe any four cultural elements of diversity in India

and rate their relative significance in building a

national identity.

YRd H fafaydr & i<l IR IRepfas Il &1 aulF B &R

gg@aw%ﬁﬁwﬁm 3MAf&rh We e 1 Hed MURT
I

12.5
Marks

200
words

2015

Debate the issue whether and how contemporary
movements for assertion of Dalit identity work towards
annihilation of caste.

U e IR It oiford fo o iR {6y yeR gfera urer
QRM) & FHBTA HaIa St {3 ot o= # & #vd g

12.5
Marks

200
words

2015

The life cycle of a joint family depends on economic
factors rather than social values. Discuss.

e URAR &1 Siia- Ieh AHTIS Hedl & SoTd TS BRI
W R Fxan 81 7= sl

10
Marks

150
words

2014




fawg - 2wfgenstt siv afgen wiret @t Yfire:, SwEn R 3UR 92 Je, Wt ik
e wdeh ge, wediewu, 399 Tuwn ik 39 JHIUH)

Theme - 2 (Role of women and women'’s organization, population and associated

issues, poverty and developmental issues, urbanization, their problems and their

remedies)
Question Marks Words Year
Explain why suicide among young women is increasing 10 150 words | 2023
in Indian society. Marks
YR JaTS § Fagafadl § sfietedl 3l 96 Yl 87 Wy
S|
Why did human development fail to keep pace with 15 250 words | 2023
economic development in India? Marks
YRA H A far sfdfep fasprar & w1y daware o # fawa
ERIEEIN
Does urbanization lead to more segregation and/or 15 250 words | 2023
marginalization of the poor in Indian metropolises? Marks
T HRT HETRI H e TRial B 3R +f it
YRR SR/AT BRI TR o A 82
Explore and evaluate the impact of ‘Work From Home' 10 150 words | 2022
on family relationships. Marks
UTRaTRe Tl U 'Teh ThIH I’ & 3R I B Tl
i D |
How is the growth of Tier 2 cities related to the rise of 10 150 words | 2022
a new middle class with an emphasis on the culture of | Marks
consumption?
JUHTFIT TP & =Y aRYIed T 79 Tegat & SUR J TR 2
ERI B1 [dy ford e 9WiRd @ ?
What are the main socio-economic implications arising 15 250 words | 2021
out of the development of IT industries in major cities Marks
of India?
YRd & TG e T 1S . I & [ I S07 g1 arat
TR YT -3 THTd T @ 2
Examine the role of ‘Gig Economy’ in the process of 10 150 words | 2021
empowerment of women in India. Marks
HRd H Afgarsil & YRR BI UfchaT H 'R S HIAN B
YIThT BT RI&01 B
Discuss the main objectives of Population Education 15 250 words | 2021
Marks

and point out the measures to achieve them in India in

detail.
SR RIEM o U SRl &1 e did g YRd J 3
T - o JURH IR favqd Uehi=r S1fery |




COVID-19 pandemic accelerated class inequalities and
poverty in India. Comment.

PIAS-19 HETHRY A HRA & f SrgeeIaneti vd IRt S fa ¢
3t g1 fewfi i

10
Marks

150 words

2020

“Empowering women is the key to control population
growth.” Discuss.

"l ARG RUT SHEREAT Ugfs ®I aRd & &1 oot g 1"
i B

10
Marks

150 words

2019

How is efficient and affordable urban mass transport
key to the rapid economic development in India?

G&f IR fhmrd (Uheaq) Wes! AduHe URas fbd THR
YR & gd e g &l pofl & ?

15
Marks

250 words

2019

What are the continued challenges for women in India
against time and space?

R & Afgamal & qre IHg 3R W Iefdd ARaR gfaar
FI-FATE ?

15
Marks

250 words

2019

‘Despite implementation of various programmes for
eradication of poverty by the government in India,
poverty is still existing’. Explain by giving reasons.

"YRd B! IRBR gRI a1 39 & fafid srfewdl &
foparaem & sravie, FAedwar endt off faemm g1 HRUT vRgd Hvd
§Y T Pifom|

10
Marks

150 words

2018

‘'Women’'s movement in India has not addressed the
issues of women of lower social strata.’ Substantiate
your view.
"YRd | Afgetiefl & sfigiad =, FaaR Imifeis @R o Afgarsi
zggaﬁﬁaﬁﬁaﬁm%r 3 faaR &1 v Rig

I

15
Marks

250 words

2018

“The growth of cities as I.T. hubs has opened up new
avenues of employment, but has also created new
problems”. Substantiate this statement with examples
"I Mt sl & U & TRI & Ygfex A AR & 7T
A1 Gire U &, e Ty & 7% gy ot e e Y g1
el Algd 9 HYF i gfY Hiforu|

15
Marks

250 words

2017

“An essential condition to eradicate poverty is to
liberate the poor from the process of deprivation.”
Substantiate this statement with suitable examples.
"TRIST ST &1 T S(Hard Td RISl Bi dfcdd & UhH o
faad R <1 81" SUGad SaTexUl URKd B §U 39 HUF &
I8 Pifor|

12.5
Marks

200 words

2016

With a brief background of quality of urban life in
India, introduce the objectives and strategy of the
‘Smart City Programme.”

12.5
Marks

200 words

2016




YR & TR Siia 31 T[OIT & Siaed geyfH & Iy, H{ 1 TR
HRIHH' & I 3R WHIS Td15T

Critically examine whether growing population is the 12,5 | 200 words | 2015

cause of poverty OR poverty is the mains cause of Marks

population increase in India.

TG D TRI&0T HiToRd fob T Il g8 oreiedT e

&1 T BRI ¢ 41 fb FeH See 3 &1 I HRU 6|

Mumbai, Delhi and Kolkata are the three Mega cities 12,5 | 200 words | 2015

of the country but the air pollution is much more Marks

serious problem in Delhi as compared to the other

two. Why is this so?

e, fowl R Fidwmar 3% & dF fRTe 7R €, W e #

IR UGHUT, 3T & TRI B a1 H gt e TR Jren g

I R HRU g ?

Smart cities in India cannot sustain without smart 12.5 | 200 words | 2015

villages. Discuss this statement in the backdrop of rural | Marks

urban integration.

"URd & WE TR WS el & 31 Shfad =1 <5 waa &1

Y- TR TSR0 B! YW B 39 HYF R i Bioh |

Discuss the changes in the trends of labour migration 125 | 200 words | 2015

within and outside India in the last four decades. Marks

e IR a1 #, HRA & HidR 3R URd & sTex 4A® Jagd

&1 yghual o gRadHl W 9 Siod |

How does patriarchy impact the position of a middle 10 150 words | 2014

class working woman in India? Marks

YRA H U HEH-IY HIHbTel Afge BI SafRifd &I fUqgd=

@fe3ne) fFg TR YHIfdd Ha1 g ?

Why do some of the most prosperous regions of India 10 150 words | 2014

have an adverse sex ratio for women? Give your Marks

arguments.

T HRUT B [ YR & 8 IS Tgg T § Afganst &

o Tfiea eil-UoW Surd § ? 39 ad U Sifor|

Discuss the various economic and socio-cultural forces 10 150 words | 2014

that are driving increasing feminization of agriculture Marks

in India.

U faftrer snfifep SIR rTfires- Tiepfaieh Seft WR =it BIfvTg, it

HYRd # $Y & dgd §U Hfearsul I IRd R IW| | 1"

Discuss the various social problems which originated 10 200 words | 2013

out of the speedy process of urbanization in India. Marks

HRA H it e Ufehar A o faftrs aranfoies gawnafi &

S faan, 3! faaam sifv|

Male membership needs to be encouraged in order to 10 200 words | 2013
Marks

make women'’s organization free from gender bias.
Comment.




Y Y1 B! feiTT-He I Had B3 & fo1g Yool Bt gaad!
P! de1a1 fia enfeu " fewoh Hifv|

v - 3 QB0 BT URAT THS TR YU 1)

Theme - 3 (Effects of globalization on Indian society.)

Question Marks | Words | Year
Discuss the impact of post-liberal economy on ethnic 15 250 2023
identity and communalism. Marks | words

S Uga Ud SiUeishdl )R IWR-3aRAd! SfeqaRil &

UHIG 1 a1 S|

Elucidate the relationship between globalization and new 15 250 2022
technology in a world of scarce resources with special Marks | words
reference to India.

Tt I B g H YHSHIBRUT Td T dehrile & R Bl

YR & IRy J<y 7 Wy &

What is Cryptocurrency? How does it affect global 15 250 2021
society? Has it been affecting Indian society also? Marks | words
frgiee o § ? I THTSl B! U5 By THITId el § ? R TG

YR S 1 H gHIfdd SR 3 2

Is diversity and pluralism in India under threat due to 15 250 2020
globalisation? Justify your answer. Marks | words

1 YR H fafaerar ud sgarare dfierur & sRUI Awe H g 2

shferygel IR i

Are we losing our local identity for the global identity? 15 250 2019
Discuss. Marks | words

FIT §H AP TgTH P T St R UgaH &1 Wid TR & ?

I B

‘Globalisation is generally said to promote cultural 15 250 2018
homogenisation but due to this cultural specificities Marks | words
appear to be strengthened in the Indian society. Elucidate.

"3 AR IR $He] oTdl § T 4Taxur Wi icds THiT R0l &I Fgrar

&1 &, TR QT Ui B © o WRelr et B 39 o

TP fAfvar geg 81 718 ¢ ' GEIm Biv|

To what extent globalisation has influenced the core of 125 | 200 2016
cultural diversity in India? Explain. Marks | words
AIeHR0T A YRA H IR A fafaear & siiaves (@R) & oo T

a% JHIfad foam 87 Wy Sifor|

Discuss the positive and negative effects of globalization 12.5 | 200 2015
on women in India? Marks | words

YR H Afgma IR 320 & JHRIAD 3R THRIHD YHTE! TR
=] DIfo |




Critically examine the effects of globalization on the aged 10 200 2013
population in India. Marks | words
HRA H g SHUYE R IR0 & THTT HT JHTGRTED RIS
I
fawa - 4@mIfore Tifaaeu, AiveRiwd, &g iR uwf=aamn
Theme - 4 (Social empowerment, communalism, regionalism & secularism)
Question Marks | Words | Year
Analyse the salience of 'sect’ in Indian society vis-a-vis 15 Marks | 250 2022
caste, region and religion. words
YR FHTS H S1fd, & 7T 4H & FAMIAR Uy 1 fIRsdl o1
[EEERIEDINLY
Are tolerance, assimilation and pluralism the key 15 Marks | 250 2022
elements in the making of an Indian form of secularism? words
Justify your answer.
7 RS, WIRYE e Sgaral Jd o & il YHfARuerdr &
YR ¥4 BT 001 H=d § ? THhETd SR G
Do you agree that regionalism in India appears to be a 10 Marks | 150 2020
consequence of rising cultural assertiveness? Argue. words
7 3Y TgHd © b YR H &ETaaT Sgdl g AR ad gurdl &
aRUMH Weftd gt & ? dab Pifo |
Customs and traditions suppress reason leading to 15 Marks | 250 2020
obscurantism. Do you agree? words
Sfa-Rarsit Td RERTSH gRT d% &1 gaH J WIfAfoRIY S gof §
| T 319 ST TGHA @ ?
How have digital initiatives in India contributed to the 15 Marks | 250 2020
functioning of the education system in the country? words
Elaborate your answer.
YR H fSfored ugd 7 fobd YR A <21 b fRI&1 gaR1 & e
A i1 fora § 2 faga SR i |
What are the challenges to our cultural practices in the 10 Marks | 150 2019
name of secularism? words
YUTRUETT & ATH IR SHRT IRG D TUT3T & A= aar-at
A &7
How the Indian concept of secularism different from the | 10 Marks | 150 2018
western model of secularism? Discuss. words
YHMRUEATATG B HRAIT Hohedd], YHRUSMTETE & UTHTd AIed
¥ fp-fo ardl # i @ 2 =il sifomy
Mention core strategies for the transformation of 15 Marks | 250 2018
words

aspirational districts in India and explain the nature of
convergence, collaboration and competition for its
success.




YR § ‘Hewarsmie forel & srawmer & forg aa Jumifaat &1
IG BT 3R 3D haral & g, SfHaRor, IganT g ufawgyf
D! Upid I WY g

‘Communalism arises either due to power struggle or
relative deprivation.” Argue by giving suitable illustrations.

TR a1 af Wfdd T & BRI IR B 3T § T 3MUfdd
9 & HRU IR g 1" I IaTERUN Bl Ud B gU I
difom

15 Marks

250
words

2018

Distinguish between religiousness/religiosity and
communalism giving one example of how the former has
got transformed into the latter in independent India.
WA HRA | YTHebdl frd TR Srariied  Suiaid gl 713,
SUHT U 3aT6RU TR X gU Uil T Areiiichdl & A
fave sifom

15 Marks

250
words

2017

What is the basis of regionalism? Is it that unequal
distribution of benefits of development on regional basis
eventually promotes regionalism? Substantiate your
answer.

TG RIHdT 1 3T YR 87 1 THT USRI TR R [dh™ & aruf
% SAM IR0 § gan, form & siaa: wefRear &1 sgrar faar?
30 IR Pl g¥ HIfoT|

12.5
Marks

200
words

2016

Has the formation of linguistic states strengthened the
cause of Indian unity

T HINTS o] o T3 - HRATT Tl & 3e=d Bl Holgd! UGH &1
8?

12.5
Marks

200
words

2016

How do you explain the statistics that show that the sex
ratio in Tribes in India is more favourable to women than
the sex ratio among Scheduled Castes?

3T 39 3fibel bl fFg UHR WY B §, o gxfd & fb yRa &
S felTuTd, srgferd Sifadl & o femurd & garad,
Higemai & 3ffeip g g

12.5
Marks

200
words

2015

Growing feeling of regionalism is an important factor in
the generation of demand for a separate state. Discuss.

TG RIedl Bt Fedt g5 HIa], GUEH T Bt AN 61 TG HRUT ¢ |
CEERIEAIEY

10 Marks

200
words

2013




